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(114)
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10 |55 26 2 2.475 1 1 2 2475 | 1 1
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Nu, Cr(Pr)Ray | 4 10+5Ray Nu, Cr(Pr)Ray 4 10+5Ray
11 [323|5 1
MPa kPa
12 |10 7 L L
u =(1_n)(ij be u =(1_n)(ij be
Xy Ky, X, kY,
13 | 247 | 7-12 L=0.Im,a=0.02m, s=0.007m, L=0.1m, a=0.02m, s=0.007m,

t=0.002m, N=10(W =0.065m), 6, =77
AT =50K. ¢ =1.2x10°, (9)

he =4.36W/m°K.  (13)

hy =2.04W/m’K, h, =4.22W/m’K .

A =0.04m*, A =0.0028m*, A, =0.0045m?,
A, =0013m°. R, =511K/W,

R.s =18.1K/W, R=4K/W

t=0.002m, N=10(W =0.083m), 6,=77 ,
AT =50K . ¢ =1.2x10°, (9)

he =4.36W/m’K.  (13)

hy =2.04W/m’K, h, =9.72W/m’K .

A =0.04m*, A_=0.0028m°, A, =0.0063m?,
A, =0.0156m’. R, =5.01K/W,

Ry =6.59K/W, R=285K/W
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